Mo ol

el L.
O|2f= 2l =0f I

X| 2| NEXT A| & Ol =




d0{= Eol= U0
S0{=H0]
232 0|7=?

QI 9| 9]




d0{= Eol= U0
S0{=H0]
232 0|7=?

QI 0f|A] 220| = 1019} A2

31E0{(40| 22002+ ), HIZI0{8300% ) W=T0{75008 )
OF2F5HA|O{(71002 1) EF2IO{GO00EH ), 2.2 =0{51008+ )
T RFHEO{46002 ) FX}=01R9002t ) 5 227K 2ioj7}
HO|R}CHE0] B 20| 22

2151o| 9F 30%21 4% 7P7[0| 7t HOIE AL




HOIE EoH= ISOjA
Ho{skzlo] Tlinr i
UEO| 0|R=

V= 4

")

L




JOE BEp=OIEOA
0§04 "'-.;-|0|
o=|==0|0|




oA Alg2 A 1S
OIS A0l SAI0l=
AE0] sUR?

OHO} L1 N0 [= E! &= QUL 2|A 2} AHIX|L|01=0d|

Son, You can be anything what you want, Doct

Engineer.
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Where government pay is higher than private sector

Driver (entry level) 25,000 12,000

MBBS doctor (entry level) 80,500 50,000
MBBS doctor
(15 years’' experience) 130,000 105,000

Where private sector pay is higher than government
Profession Govt. salary
MD doctor (entry level) 95,000 1,005,000
MD Doctor (15 years) 1,60,000 3,70,000
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